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Please check whether you have got the right question paper.

N.B: 1. Question no I is compulsory. =
2. Attempt any three questions from remainine five questions. &
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3. Assume suitable data if required. [r;,’..’ - 7
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4. Draw neat diagram wherever necessary, D W,
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Q.1  Solve any four out of five. P W 20
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A. Explain Virtual Memory. "fi*;gwff"
B. What is IO buffering? : ) & S ®
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C. Write a note on scanner. _ | .
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D. What is Segmentation? N J
E. What is TLB? r:_\--[-:’:,t H
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Q.2 A.I) Draw the flow chartfor Réstore Division-Algorithm. T © 04
[) Divide using restore division method 7/3. ] ,:-'?I’:_""*':f-“--.lx“/ 06
B. Describe hard-wire control unit and specify ifSadvantages. 10
Q3 A. Multiply (-5).and'(2) using Booth’s Algo 1, ‘%}. e 10
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B. A block set associative cache con’sistsgf ﬁ%lncks divided in 4 block sets. The main memory 10
contains 4096 blocks, each 128 wnl@g,yik ' ﬁlgj:pﬁength.
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I)'How:many-bits are there mm memory address?
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2) How many bits afe there gﬁﬁ%e-memury address (tag, set, and word fields)?
Q4 A. Differentiate between L. RISE and CISC processor. 10
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B. Explain Flynn’s-clas$ification. 10
Q5 A. Discuss the functions o . 9 IO processor. 10
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, BShnwaEE? .swmﬁ'fqbﬁiﬂary Floating Point Representation for 32 bit single format and 64 10
~2 - Chit double for aﬁ. ¥ ) Q&
Q.6 A-Explain different'pipelining hazards 10

B. Dis%‘h‘ﬁﬁcti ons of I 10
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